ST..GREGORIOS HIGH SCHOOL.
PRELIMINARY : EXAMINATION,

STD: 10TH -SUB: MATHE MATICS

_ 2" Januar’h 2019 : |

TIME: 21. hr - o o MAX. MARKS':SO.

You will not be allowed to wnte durmﬂ the first 15 minutes. This time is to be spent in
reading the question paper The tlrne Uwen at the head of this paper is the time a]lowed for

- writing the paper.

SECTION-A

AttemQt all the questlons from thls section.

/

/ Solve the given 1nequat10n and represent the solutxon set on the number llne (3 )
1 2¢ 5
3 < —s—— < = wherex €N

"2 3 76

;B¢ AB 1s the diameter of a circie wnth centre ‘O’ The given pomt A hCS on the X-axis and
- the point B lies on the origin. PT is the tangent to this given circle at point A. The co- '
ordinates of the tangent are—»pomt P(4.6 ) and pomt i (4 -3). Point A dmdes this
tangent ina certam ratio. e _ . ( 3)

i) Calculate the ratio in which pomt A divides thc tangent PT -
ii) Find the coordinates of point A and point O.

: pP(4,6)
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.rjl(lf | X + Y=E‘6 _ﬂ 'gnd X=Y= ] ﬁndthematnxXand
matrix Y, ' ‘ ) \
, - ] N . " (4)
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1[ A The 4" term of an A P.is ..,qua] to 3 times the first term and the 7% term exceeds the
third terns by 1. Find the common difference and the fourthi term of the given AP(3)

B’ In the ziven figure two circles touch each other extema]ly at point T. Point ‘O’ and .
~ point ‘P* are the centres of the given circles. Line OTP and Line ATB are the straight
n.wﬂ; Angle ACT is equal to. 60°. Calculate the measure of the angle TBK (3) .
: L'““ unc}. NL- L_J-Y{{. -'C‘{ng(_’,\(,a | e i 3@ Y 8

/C. Use graph paper to solve this question:

-

(4)
* PlotpointA (3,3). "
* R?ﬂect point A in the X-axis and malk the image as Al . 'Wnte the co-ordmates of -

=, A _
-« Join the line AAi e '
"« Mark the origin as B. Reﬂect point Bin AA Mark it’s 1mage as BI

- Write the coordmates of B. 7 . _ .

« Join ABAIBIA and name the ﬁgure o

| Q II j/ A man invests rupees 30, 000/~ inl5 % rupees 110/- shares at rupeeb 120/— When
these shares rose to rupees 130/, he sells enough shares to purchase a scooter for
his daughter for rupees 3900/-. Calculate -7 : o (3)
i) The number of the shares he still holds.- . L
ii) The loss in hlS annual income.

B/In the given G P thc first term is 729 and the seventh term is 64. Calculatc the sum of
first'seven terms. e = L - o : e (3)

‘ C A tuoy is madc in the form of a. hemzsphere surmounted by ari ght cmcular cone. The

. . circular base of the cone coincides with the plane surface of the hermsphere Calculate

e 1) The height of the'd cone and il .'I'he surface area of the buoy conect to two-decimal
- places. - [’Takz- 7= 2’-} )

' vodive 0l base ol~ LS IR

| S -
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C.IV.A. In the given ﬁgure AC bisects angle BAD . side AB =16 cm side AC
side AD =9cm.

i) Prove that A ABC ~ A ACD
ii) Find A(A ABC) ¢ A(A ACD)

l2cm and
(3)

TSR

B. Using formula}solve the given equation and giﬁ’. your answer correct to 3 significant
figures. S : o (3}
- = S, 18 : - .
T X—— =6
5 _ = = = : : . x . .
'C. Use compass and ruler to solve this question. ' . €3]

Constriict angle ABC= 60° ,where BA = BC = 8cm. The points ‘M’ and ‘N’ are the

mid-points of sides. BA and BC respectively. Draw .- . | .. .the Iocﬁé of a point
which:is: | , i = \;}_._....\r\q*ff‘ :“;"’?Q’f
i) Equidistant from BA and BC. BT L e U sy,
ii)dem frbrh point M. _ Vl ; 1 2 (BN
iii) 4cm from pointN. - . Maob. D“;‘)g; Qg?gj R

Mark the point ‘P’ which is 4cm from both the points M and N and equ1d15tant m the "
. sxde BA and side BC Jom MP and NP and newnre the ﬁgure BMPN

-SECTION-B

Attémpt,Any 4 questions from;this sectioh.' -

Qy Thc product of the third term and 1‘1\, eighth term cf a G.P 1s 243. If the fourth term
is 3. Calculate = e . , A (3)

n) It’s ﬁrst term. - ', i1) The common d_if?'éreﬁce‘ . iii)'Tlne ﬁfth ténn.

}/Prove | - - S .- -'F.-‘»;.(3)

(casA - cosecA) th (smA secA ) ( 1 secA c:osecA)

LAQ, -S) B'2 2% and C(—2 4)arethevcrnces ofthetnangchBC Fmdthe
cquatxonof . CEeek , - - (4)

/

. 1) The medxan of the tnangle through A

ii) The lme passma through it’s centroid and parallel to side BC
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QVIA Ust factor theorem to show that ( 3x41) isa factor of the gwen expression (3 )

/ -
LTIt 4 4x?—35x - 12 Hence factorize the given expression completely.

' P L b= )
- \'./. - n M e vdeed W‘ ERE O SR A a5 ’ W iaturity, ,amount afier tv O Y asal a )
certa m rate, CJU“"“ the rate of interest given by the banL - - (3)

CROM Teaneh h:::_i o recuning depost cccountina bank. He deposued rupees 500/- per

C/ the given ﬁgure ACis the diameter angle DEC = 90° and angle AOB =1 OOO |
\/ Calculate:. . (4):
) Angle ACB  ii)AngleBDC i) Angle DAB B

J"I“

L}
&l .

BOT

£ N wao
% 4
Sy e
CW wTe R

B M v gm —
S Fa N LW

LA Thc welght of the a5 .»chool chlldren were recorded to the nearest kg'as follows:

Q
Calculate 1) The medxan we1ght i) The modal welght. o (3)
Welght(k T a6 | 48 | 50 52| 53 | 54 ] 55
s No: of Y . . -8 1217 10 - . 1
students(f) | - : - ' S

B An exhlbmon tent 1s in the form of a eylinder surmounted by a cone. The height of the
tent above the ground is 85 m and the height of the cylindrical part is 50m If the

| ‘diameter of the base of the of the cylinderis 168 m . Calculate the quantzty of the

‘canvas reqmred to make.the tent allowmg 20% extra for the foldmg and sutchmg

vae your answer correct to nearest m?, [’kaa p LN 3—1—] (3) -
. he )

C. Madhu invests mpees 9000/- partly in a company - paymg 5%, rupees 100 shares sold at
rupees 80 and the remaining amount in other company paying 6%, rupees 50
shares at rupees 70. If the total annual dividend receis ed 15 rupees 480/- . Calculatc

~ the amount lnvested in cach com%f) B L (4)
R 7\
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QOéI.A. Find the vaives of “‘a’and ‘b’ so that the giv I polfmomial _ (3)

-~

. 3+ ax®+ bx-45 - has (x+1) a 'd {x+5) as its factors.

>,

be'ls. [fthe probability of drawing a
b

B. Adarcen'ning zame blae balls and 16 green
1] g

5
~ Dblue ball is ;' of the green balls. Calculat °t : wtalnumber of the balls in the jar.

S J} S (3)

- b

=
C. The angle of the jet plane from a fixed point on ne ground is 60° . Afier a flight of
15 seconds the angle changes to 30° If th> Jet p e 1s flying at a constant . .& 7

height of 1500v/3 m. Calculate the speed of the wt planc ( Draw the diagram and _
' solve this quest1on ) - - (4}

C(}Ié A.In thc given figure ( not drawn to the scale) PM s atangent 10 the given cxrcle e
A Chord AB when extended meets the tangent atI aint P - , (3)

i) Prove that A PMB ~ APAM " 3

ii) If PM = 20cm and PA— 16Cm ﬁnd AB ;-»'- -

&
%
" N . .-;3 ,. :4;-‘ . )
e E'g /—*—.’/ p
3
5
b
)
o,
f

- B. Use compass and ruler to solve this questlon-:‘f— SR - (3)

R

‘Draw an mscnbed circle to a regular hexagon of -ide 5 Scm

l :

G Calculate the Mean of the following dlstnbutwn» ; e usmg the Short-cut method,

55; 4)

§ ' . $

"|_intirval” | 40-45 | 45-50 | 50-55 | 55-60 | 6" 65 | 65-70 | 70-75 | 75-80
Frequency | 5 12 20 | 16 & 9 8 5 4
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S NY A welon ofetriancle arc in AP Ifthe l'vhn angle is 1' rice the s-nallcsl angle .
/ .F". C""CL ate the measure of all the angles of lhe triangle. : (3)
BN ‘e 1 4” ]‘E:'-.-f , -.=':f;.x'-h"of";3";' r ‘.f?ff""-—' 0; -}\ Ei”f'\fﬂ!l'ﬁﬂati‘ii
o =1 2{) - N . _
. where [ is the 1dentxty matrix of order2h2 . - (3)

‘}/éan auditorium ,seats were arranged in rows and columns. The number of rows was

\ equal to the number of seats in each row. When the. number of rows was doubled
and the number seats in each row was reduced by 12, then the number of seats got
increased by 1300. How many rews and seats are in the audltonum‘? _ ( 4 )

Q.XIL.A. Using properties of the propor_tion solve: o ‘ : (4)

Jx+1 + Jx—1 4x—-1 | -

\/x+1-—m 2

B. Use- graph paperto solve thrsquestlon e ' B A _' '_(67)_',‘ .

Usmp the followmo frequency dlstnbutlon table plot the Oglve and estlmate
) The median we.xght : o o S e

i) the number of students who are under v«c:ght if the 55. 70kg is cons:dered as standa_rd

i) The wei ght above Wthh the heawesl 30% of the student fall.

Weight | 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75 | 75.80

No:of | 5 17 | 22 | 45 ST | 31 | 20 [ 9

students | . N N B ,
mn e nZROT
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